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. Bisk B 4
(FD] i | s B3 AR |AIREE L
(&) (&) (&) (T (%)
i 50cc AT 2,000 6 14| 4,971 9,942 95.9
fj% 51~90cc 2,000 0 1 277 554 99.3
i 91~125cc 2,400 4 0 597 | 1,433 | 105.5
Ea S=h— 3,700 2 0 105 389 | 101.9
e /NG 12 15| 5,950 | 12,317 97.2
Tl 3,600 0 1] 1,025 3,690 102.8
Wit 8| H27,3,31%ﬁﬁjﬁﬁiﬂﬁ‘ﬁﬁ% 2,400 0 0 54 130 96.4
H27. 4.1 LA sesy | 3,600 0 0 9 32| 1125
H27.3. 31 LARTHT RSy | 3,100 0 0 0 0 -
H27. 4.1 LA ssy | 3,900 0 0 0 0 -
Sren AR5 4,600 0 0 2 9| 100.0
5% AR 4y 1,000 0 0 0 0 -
50% AR A 4> 2,000 0 0 0 0 -
25% WA 4y 3,000 0 0 0 0 -
=& 3! 5,500 0 0 3 17 75.0
VU iy A EE3: 7,200 31 161 | 10,336 | 74,419 86.8
(H27.3.31 ART#T - - - -
B | e, = 3,000 0 0 86 258 86.0
B EES;] 4,000 71 27 3,739 | 14,956 86.6
=& 3! 6,900 0 2 14| 100.0
DUy A EE3: 10,800 127 8,613 | 93,020 119.8
(H27.4. 1 LA — . - . -
i RS = e 3,800 1 87 331 117.6
B EEI 5,000 37 12| 3,248 | 16,240 119.0
oy . Y 8,200 0 0 1 8| -
& DUy EEJ] 12,900 19 100 | 5,156 | 66,512 | 102.5
(BB ) EES 4,500 0 0 57 257 |  96.6
B EES; 6,000 122 28 | 4,963 | 29,778 | 100.5
T Fi %‘%Hﬂ 1,800 0 0 0 0 -
Uiy EE3: 2,700 0 0 0 0 -
(75% ¥ 08 A 47) f‘f‘% 'E:A%HEJ 1,000 0 0 0 0 _
EEIiE 1,300 0 0 0 0| -
P =& 3! 3,500 0 0 0 0 -
DU A HZH 5,400 1 1 132 713 26.4
(50 %I 3548 A 47) i%% g%ﬂz} 1,900 0 0 0 0 _
HZH 2,500 0 0 0 0 -
P =& 3! 5,200 0 0 0 0 -
DU A HZH 8,100 0 16| 1,164 9,428 | 109.7
(2590 BERRIE 73 ) B 2,900 0 0 1 3| 500
B EES 3,800 2 0 52 198 68.4
/N 285 474 | 38,730 [ 310,013 | 101.6
,é JERHEZER 2,400 14 0| 3,319 7,966 96.8
I FrRAESEH 5,900 2 0 339 2,000| 102.1
iﬁ /NGt 16 0 3,658 9,966 97.9
gD /N ) 6,000 2 1,384 | 8,304 | 100.2
Gt 315 489 | 49,722 | 340,600 | 101.3
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. Bisk B 4
(FD] i | s B3 AR |AIREE L
(&) (&) (&) (T (%)
i 50cc AT 2,000 6 11| 4,761 9,522 95.8
fj% 51~90cc 2,000 0 0 293 586 | 105.8
i 91~125cc 2,400 4 0 673 | 1,615| 112.7
E,a S=h— 3,700 2 0 106 392 | 101.0
e /NG 12 11| 5,833 12,115 98.4
Tl 3,600 0 1] 1,066 | 3,838 104.0
e A Hzm,slgﬁﬁfﬁrﬂﬁﬁﬁ 2,400 0 0 54 130 [ 100.0
H27. 4.1 LA sesy | 3,600 0 0 12 43 133.3
H27.3. 31 LARTHT RSy | 3,100 0 0 0 0 -
H27. 4.1 LA ssy | 3,900 0 0 0 0 -
Sren AR5 4,600 0 0 2 9| 100.0
- 5% AR 4y 1,000 0 0 0 0 -
50% AR A 4> 2,000 0 0 0 0 -
25% WA 4y 3,000 0 0 0 0 -
=& 3! 5,500 0 0 5 28 | 166.7
VU iy A EE3: 7,200 31 148 | 8,919 | 64,217 86.3
(H27.3.31 ART#T - - - -
B | e, = 3,000 0 0 84 252 97.7
B EES;] 4,000 60 24 | 3,186 | 12,744 85.2
=& 3! 6,900 0 0 3 21 [ 150.0
DUy A EE3: 10,800 159 | 10,989 | 118,681 | 127.6
(H27.4. 1 LA — . . . -
i RS = e 3,800 1 100 380 114.9
E EES; 5,000 48 20| 3,749 | 18,745| 115.4
) . B 8,200 0 0 1 8| 100.0
& DUy EEJ] 12,900 16 102 | 5,308 | 68,473 | 102.9
(BB ) EES 4,500 0 0 58 261 | 101.8
B EES; 6,000 128 26 | 4,991 | 29,946 | 100.6
T Fi %‘%Hﬂ 1,800 0 0 0 0 -
Uiy EE3: 2,700 0 0 0 0 -
(75% ¥ 08 A 47) f‘f‘% 'E:A%HEJ 1,000 0 0 0 0 _
HZH 1,300 0 0 1 1 -
P ﬁ%ﬂ% 3,500 0 0 0 0 -
DU A HZH 5,400 0 0 0 0 0.0
(50 %I 3548 A 47) i%% g%ﬂz} 1,900 0 0 0 0 _
HZH 2,500 0 0 0 0 -
P ﬁ%ﬂ% 5,200 0 0 0 0 -
DU A HZH 8,100 0 0 0 0 0.0
(2590 BERRIE 73 ) B 2,900 0 0 0 0 0.0
2 HZH 3,800 0 0 0 0 0.0
/N 286 481 | 38,528 | 317,777 | 102.5
) R EE 2,400 14 0| 3205 7,692 96.6
I FrRAESEH 5,900 2 0 337 1,988 99.4
iﬁ /NGt 16 0 3,542 9,680 97.1
gD /N ) 6,000 2 1,404 | 8,424 | 101.4
Gt 316 492 | 49,307 | 347,996 | 102.2
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. Bisk B 4
(FD] i | s B3 AR |AIREE L
(&) (&) (&) (T (%)
i 50cc AT 2,000 6 9| 4,627 9,254 97.2
fj% 51~90cc 2,000 0 0 300 600 | 102.4
i 91~125cc 2,400 4 0 709 | 1,702 [ 105.4
Ea S=h— 3,700 2 0 105 388 98.9
e /NG 12 9| 5,741 | 11,944 98.6
Tl 3,600 0 1] 1,108 | 3,989 103.9
Wit 8| H27,3,31%ﬁﬁjﬁﬁiﬂﬁ‘ﬁﬁ% 2,400 0 0 51 122 94.4
H27. 4.1 LA sesy | 3,600 0 0 13 47 108.3

H27.3. 31 LARTHT RSy | 3,100 0 0 0 0 -

H27. 4.1 LA ssy | 3,900 0 0 0 0 -
Sren AR5 4,600 0 0 2 9| 100.0

5% AR 4y 1,000 0 0 0 0 -

50% AR A 4> 2,000 0 0 0 0 -

25% WA 4y 3,000 0 0 0 0 -
=& 3! 5,500 0 0 4 22 80.0
VU iy A EE3: 7,200 26 117 | 7,465 | 53,748 83.7

(H27.3.31 ART#T - - - -
B | e, = 3,000 0 0 60 180 71.4
B EES;] 4,000 30 12| 2,630 10,520 82.5
=& 3! 6,900 0 0 2 14 66.7
DUy A EE3: 10,800 181 | 12,271 | 132,627 | 111.7
(H27.4. 1 LA — . . . -

i RS = e 3,800 0 122 464 | 122.0
E EES; 5,000 56 23| 4,331 21,655 115.5
) . B 8,200 0 0 4 32 [ 390.2
& DUy EEJ] 12,900 19 116 | 5,543 | 71,505 | 104.4
(BB ) EES 4,500 0 0 72 324 | 124.1
B EES; 6,000 146 26 | 5,084 | 30,504 | 101.9

T Fi =& 3! 1,800 0 0 0 0 -

Uiy EEJ] 2,700 0 0 62 167 -

(75% ¥ 08 A 47) f‘f‘% 'E:A%HEJ 1,000 0 0 0 0 _
EEI 1,300 0 0 1 1| 100.0

P ﬁ%ﬂ% 3,500 0 0 0 0 -

DU A HZH 5,400 0 0 0 0 -

(509% 1% 38586 FI 4) ) B3 ] 1,900 0 0 0 0 -

HZH 2,500 0 0 0 0 -

P ﬁ%ﬂ% 5,200 0 0 0 0 -

DU A HZH 8,100 0 0 0 0 -

(25% IR0 A 47) %% g%ﬂz} 2,900 0 0 0 0 _

2 HZH 3,800 0 0 0 0 -
/N 284 476 | 38,825 [ 325,830 | 102.5
,é JERHEZER 2,400 14 0 3,150 7,560 98.3
I FrRAESEH 5,900 2 0 342 | 2,018| 101.5
iﬁ N 16 0 3,492 9,578 98.9
gD /N ) 6,000 2 1,416 8,496 | 100.9
Gt 314 485 | 49,474 | 355,848 | 102.3
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